G‘.'.'m nom AsseMBLY INSTRUCTIONS NM49A |17/09/09

CS 30056 - 45 RUE GASTON DE FLOTTE

13012 MARSEILLE CEDEX 12 (FRANCE)
TEL. 33.(0).4.91.87.51.20 - FAX.33.(0).4.91.93.86.89

www.gymnova.com - info@gymnova.com MlN'-APPARATUS PA'R CAPS

1S0 9001

= D Seare Kir M'09 13010

Certification

T pLEASE KEEP

References :
0135C & 0136C

References :
0120C,
0122C

I. Warning: & 0125¢C

This equipment should be installed by a qualified individual.

Using this equipment for purposes other than those originally intended is not
allowed.

Il. Recommendations:

As shown in French Standard NF S52-400 the following is recommended:

- keep these instructions for subsequent reference (inspection, maintenance,
etfc.).

- periodically carry out predictive maintenance.

- depending on how much it is used, have the equipment serviced yearly or
every few years.

ll. Package detail (Figure 1):

- The set of 2 caps: 2 top parts (1) and 2 bottom parts (2).

- The matching screws and bolts: 2 truss head machine screws M8 x 60 (3), 2
flat washers L8 x 22 (4), 2 hex slotted lock nuts M8 (5), 2 socket head cap screws
M8 x 60 (6), et 2 hex lock nuts M8 with polyamid insert (7).

Fig. 2

IV. Old caps dismantling:

Make operations in opposite way of assembly (Fig. 4 -> Fig. 3 -> Fig. 2).

V. New caps assembly:

1. Fixing caps on the hanrail (See Fig. 2 & 3) :

- Thread a truss head screw (3) on each end of the hand-rail (8), then through the 2 parts (1) et (2) of each cap.

- Put the washer (4) before tightening nut (5) under the bottom part (2) of each cap in moderation.

2. Fixing all on slides or low hand-rail support (See Fig. 4) :

- Fit the bottom part (2) of caps on the top of each slide (9).

- Fix the whole with cylindrical head screws (6) and lock nuts (7) (in marking caps impressions). Tighten the mobile joint in
moderation, to preserve the flexibility in using Mini-apparatus.

Constantly aiming to improve our products, we reserve the right to make changes to the equipment and dimensions without further discussion.




